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1. Because there is no rain and the climate is harsh. (6 marks)
2. The land can no longer be used for growing crops or grazing animals. (6 marks)
3. They have to move to ‘greener’ areas in order to survive. / A proportion of the population may
survive by moving, (6 marks)

4. harsh (5 marks) 5.to depend on (5 marks)

6. The activities of human beings are often the real cause of desertification. (6 marks)

7. Farmers tend to overcultivate their land, with the result that the soil becomes poor and unproductive.
/ The less we cultivate our land, the more productive it becomes. / The more we cultivate our land,
the less productive it becomes. (6 marks)

12. how long periods in space affect the body (6marks )
13. new insights into the way matter is made up. (6 marks)

21.What is law? (8 marks)

22.Why are laws made? (8 marks)

23. Who makes sure that people obey the law? / What do police and judges do? (8 marks)
24. Any logical answer is accepted.

25. | wish newspapers and magazines wouldn't / didn't contain so many adverts.
26. The world has been changed by computers.
27. People write things in their diaries in order not to forget important things. / In order not to forget
important things, people write things in their diaries. (8 marks)
28. It might have broken down. / It might be broken down. / It might have been broken down.
(8 marks)

29. Past continuous
30. all present tenses
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(10 marks)
38. The rainforest plays / has an important role in controlling the world's climate / the climate of the
world because of its size and location. 8 marks




